HEREI B HEBL

% g

=4

BT

(2 kT +

RTX 4060 8GB( z 14} )

A ApER% 11830 MHz (7 )
deig PEA% 2460 MHZ (3 2 4)
CUDA Cores : 3072 (z 2 +)
Rtk 1 17 Gbps
Rtz E 8G (gmm2)
e Rttt 1 GDDR6 (7 )
Rt Ae 128 bit (7 ¢
)

9, wming I PCI-E 4.0 x 16

10. &£ #%Nvidia DLSS

11, &~ #ci=f247 & * 7680 * 4320
12. Output : HDMI * 1> DP * 3
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RTX 3060 8GB

A ApE% 11830 MHz (7 22 )
deig PEA% 1 2460 MHZ (3 2 4)
CUDA Cores : 3072 (z 2 +)
Rtk 1 17 Gbps
Rtz E 8G (gmmr)
Rttt 1 GDDR6 (7 )
Rt A e 1128 bit (7 ¢
)

9, wmin I PCI-E 4.0 x 16

10. &£ #%Nvidia DLSS

11, &~ Fcixf247 & * 7680 * 4320
12. Output : HDMI * 1 > DP * 3
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